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BEx U—10 2021EJIE S2=FHwh——SEHME Y — 5 (HEEHEME)

4H48(R)
U—10(E) u—10(0)
HE=iE FILHITZUR(C)
RIGUE |(FaD  WEZ FR) a—<SUN FE #H O |(FED (F) = ¥
1 09:00~ | AR vs AR F%iE vs
2 09:50~ | F%i# vs a—3IUM  BR vs
3 10:40~ AR vs =D (K) NSP vs
4 11:30~ NSP vs WEL AEHE vs
5 12:20~ [ 1z£2(K) vs NEWE |3—7IUk vs
6 13:10~ |2—< 3>k vs NSP fzED(K) vs
7 14:00~ vs vs
8 14:50~ vs vs
4848 (H)
U—10(0) U—10(0)
HERIB
SBLE |(F8D (F#&) I (G 1)) (F18) =
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
484H(H)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (F#) £ ¥ (D (F#) = 1
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




B2 U—10 221 Za=FHyh—Y—TFiEmeE) — 2" (PEFHEHX)
48118 (H) —ERFFRE
U—10(D) U—10(D)
HE=iE TEH:INTSUR(B) TEBENTZUR(C)
RIBLUE (Fa) HBFC  (FR) NRRATFL £ ¥ |(FEn ABFC  FHB) RATIL = ¥
1 09:00~ b ] vs HEBFC | f=£D(S) | EBFFC vs FADS | NARTIL
2 09:50~ |ZBEFHRED vs HEBFC | EEFFC | SUNRISE vs ¥EH FADS
3 10:40~ vs EZRFFC vs =ED(S) YR
4 11:30~ | ZBFEER vs b 4] SUNRISE| /SRXTIL vs ¥ H HL&FC
5 12:20~ [ 1=£2(8) vs FADS ¥ vs
6 13:10~ vs SUNRISE vs IRZATIL | EBFEE
7 14:00~ vs vs
8 14:50~ vs vs
4811H(H)
U—10(E) U—10(0)
HERIB FIWH#T SR (E)
SBLE (Fan ABEE (FHR  HE o T (G 1)) (F18) =
1 .09:00~ | FZF vs f=ED(K) BRI vs
2 09:50~ WEz vs AEBWEE | FZE vs
3 10:40~ BRI vs NSP |3—<35 bk vs
4 11:30~ | A& mE vs a—<3 k| NSP vs
5 12:20~ NSP vs kx| ABHE vs
6 13:10~ |a—< 5k vs hEz B vs
7 14:00~ | BALLE vs gLl YRz vs
8 14:50~ vs vs
48118 (RH)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (F#) £ ¥ (D (F#) = 1
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




BEx U—10 2021EJIE S2=FHwh——SEHME Y — 5 (HEEHEME)

48188 (A)
Uu—10(D) U—10(0)
HERB TFENTZUR(C)
25HF (Fan  RE (F#&) £ ¥ |(FED (F1%) g H
1 09:00~ | fz£2(8) vs SUNRISE| /3ZXF)L vs
2 09:50~ b ] vs ¥EH SUNRISE vs
3 10:40~ | =D (8) vs INZATIL I vs
4 11:30~ I vs SUNRISE | f=ED(S) vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
48188 (A)
u—10(0) U—10(0)
EN=E-3:
e EES (G o)) (F1&) B H|(FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
48188 (R)
Uu—10(0) Uu—10(0)
EEN=E-3:
2G5 HF [(FFD (F1&) £ ¥ |(FED (F1&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ vs vs




Bi2%x U—10 2021B/F F2=FYyH——THHME Y~ (PHBHE)
4F258 (H)
Uu—10(0) Uu—10(0)
HEaR5
RIGHE |(FED (&) EZ H (D (F#) =z ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
4H25H (H)
u—10(0) u—10(0)
HER5
RGEHFE |(FED (&) E ¥ (D (F#) = H
1 09:00~ vs Vs
2 09:50~ vs VS
3 10:40~ vs vs
4 11:30~ vs Vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
4H25H (H)
U—10(0) u—10(0)
HER5
RGHE |(FAD () # ¥ (D (F#) = #
1 09:00~ VS vs
2 09:50~ Vs Vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ Vs vs




BiEX U—-10

20218R Za=FHvh——TFiEte) — 2" (HEFAEX)

5898 (RH) —ERFFRE
U—10(D) U—10(D)
HEwi5 THE|INTSUR(B) TEINTSUKR(C)
RIGHF |((FAD 2ED(S) (FR) ZBFRE| T H |((FiD £2(8) FK) EEBFHRH| T #
1 .09:00~ | E@EFFC vs E@EFRE| SFCikit ¥EH vs zED(S) | A&FC
2 09:50~ vs R vs ATV | EEFFC
3 10:40~ ¥ H vs ALBFC | 1z2ED(S) vs
4 11:30~ vs FADS vs EBEFHRE|  AFH
5 12:20~ | /RRTIL vs HEBFC |EBFRE vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5898 (RH)
U—10(E) u—10(0)
HERIB FWHMI SR (F)
KIBYUE |(FED ED(K) FHR) BhE £ H (D (F18) =
1 09:00~ BRI vs MR Cliag vs
2 09:50~ | EALLR vs f=ED(K) gRLL vs
3 10:40~ | FZZE vs gLl f=ED(K) vs
4 11:30~ | f=ED(K) vs EL AR vs
5 12:20~ S vs FEE 7 vs
6 13:10~ gz vs BLE FLiE vs
7 14:00~ vs vs
8 14:50~ vs vs
5898 (RH)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (F#) £ ¥ (D (F#) = 1
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




BiEX U—-10

20218R Za=FHvh——TFiEte) — 2" (HEFAEX)

58168 (R)
U—10(E) u—10(0)
HE=iE FILHITZUR(C)
RIGUE |(FAD NSP  (F&) =E2K) | F #  |(F8D (F) = ¥
1 09:00~ AR vs NSP gl vs
2 09:50~ BRI vs WEL AR vs
3 10:40~ | BLHE vs a—<3 k|  NSP vs
4 11:30~ NSP vs ABHRE | =2 (K) vs
5 12:20~ [ 1z£€2(K) vs BRIl B E vs
6 13:10~ | A& vs BtE |3—<3vh vs
7 14:00~ |3—< 52k vs f=ED(K) | A&Elm vs
8 14:50~ vs vs
58168 (A)
U—10(0) u—10(0)
HERIB
SBLE |(F8D (F#&) I (G 1)) (F18) =
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
58168 (R)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (F#) I (€ 1)) (F#) = 1
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




Bi2%x U—10 2021B/F F2=FYyH——THHME Y~ (PHBHE)
5A23H(R)
Uu—10(0) Uu—10(0)
HEaR5
RIGHE |(FED (&) EZ H (D (F#) =z ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
58238 (H)
u—10(0) u—10(0)
HER5
RGEHFE |(FED (&) E ¥ (D (F#) = H
1 09:00~ vs Vs
2 09:50~ vs VS
3 10:40~ vs vs
4 11:30~ vs Vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5A238(R)
U—10(0) u—10(0)
HER5
RGHE |(FAD () # ¥ (D (F#) = #
1 09:00~ VS vs
2 09:50~ Vs Vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ Vs vs




BEx U—10 2021EJIE S2=FHwh——SEHME Y — 5 (HEEHEME)

58308 (RH)
U—10(D) U—10(E)
HERB EH:NTFUE(C) FI#T IR (D)
RBLUF (FaD A (FR) EBEFFC| E ¥ |(FED  BR G = #
1 09:00~ | FAMDS vs MEH SUNRISE| F%i# vs = MR
2 09:50~ |ZBEFHRED vs SUNRISE | #@3FFC AR vs Rz L&
3 10:40~ [FCEADS vs INRT )L ¥EH NSP vs FEE WEz
4 11:30~ | E}EFFC vs SUNRISE | FCEA®DS | EFitkHE vs MR NSP
5 12:20~ | ZBEFHRED vs MEH INRTIL vs
6 13:10~ | E}:EFFC vs ATV [ EBFEED vs
7 14:00~ vs vs
8 14:50~ vs vs
58308 (H)
U—10(0) u—10(0)
HERIB
SBLE |(F8D (F1%) I (G 1)) (F18) = ¥
1 09:00~ vs vs
2 09:50~ vs VS
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
58308 (8)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (FF1%) I (€ 1)) (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




BiEX U—-10

20218R Za=FHvh——TFiEte) — 2" (HEFAEX)

6A68(H)
U—10(D) U—10(E)
HERB ZEZBRETIUF(A) ZERERBI IR (B)
RBLE (Fan) H&BFC FHR) FADS # ¥ ((FED 3—<Ivh (FR) Rl = H
1 09:00~ | f=ED(S) vs HEFC |BBFRE| E2K) vs NSP [a—<35u b
2 09:50~ [ /XRTIL Vs ERBFRE| fzE£D(8) |73—730k vs MR t=ED(K)
3 10:40~ [ SUNRISE vs HBFC | RRTIL | FHE vs A EBIHF BRIl
4 11:30~ | f=£ED(S) vs EBTFTRA| HLEFC BRIl vs a—TIUM FEE
5 12:20~ R vs E®FFC | SUNRISE| HHi# vs FZE | WEEHE
6 13:10~ | FADS vs SUNRISE|  iRiHi A EBIF vs BRIl WEz
7 14:00~ FEH vs EEFFC| FADS vs
8 14:50~ b ] vs FADS | EBEFFC vs
6868 (H)
U—10(0) u—10(0)
HERIB
SBLE |(F8D (F1%) I (G 1)) (F18) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
6868 (H)
u—10(0) Uu—10(0)
HERB
SBYE |(F8D (F#) I (€ 1)) (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




BEx U—10 2021EJIE S2=FHwh——SEHME Y — 5 (HEEHEME)

68278 (RH)
Uu—10(D) U—10(0)
HERB TFENTZUR(C)
R5HF [(Fa) HEBFC  HFHB) £ ¥ |(FED (F1%) g H
1 09:00~ | B EFFC vs HEEFC | FADS vs
2 09:50~ b ] vs f=&ED(8) | HE&FC vs
3 10:40~ | FAMDS vs HEFC | 1zED(S) vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
68278 (H)
u—10(0) U—10(0)
HEex5
e EES (G o)) (F1&) B H|(FED (F1%) = ¥
1 09:00~ vs vs
2 09:50~ vs VS
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
68278 (H)
Uu—10(0) Uu—10(0)
HEx5
SHELE ((FFD (F1&) £ ¥ |(FED (F1&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ W VS
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ vs vs




Bi2%x U—10 2021B/F F2=FYyH——THHME Y~ (PHBHE)
7H25H(R)
Uu—10(0) Uu—10(0)
HEaR5
RIGHE |(FED (&) EZ H (D (F#) =z ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
7R258(R)
u—10(0) u—10(0)
HER5
RGEHFE |(FED (&) E ¥ (D (F#) = H
1 09:00~ vs Vs
2 09:50~ vs VS
3 10:40~ vs vs
4 11:30~ vs Vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
7A258(H)
U—10(0) u—10(0)
HER5
RGHE |(FAD () # ¥ (D (F#) = #
1 09:00~ VS vs
2 09:50~ Vs Vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ W vsS
7 14:00~ vs vs
8 14:50~ Vs vs




